
DCD936    CORDLESS DRILL 10 

 
 

PartsList DCD936 CORDLESSDRILL 10 

Item PartNumber Qty PartDescription GeneralDescription OtherInfo RepairInst Markets 

1 N377758 1 CLAMSHELLPAIR EMI,WELD  No  

2 N014681 2 LEAFSPRING   No  



3 N012060 1 BRUSHPLATE   No  

4 N268000 1 ARMATURESA 14.4V  No  

5 N012055 1 MAGNETSA   No  

6 N007948 2 CLAMP   No  

7 330019-52 4 SCREW.SPECIAL T15-M3.5X19  No  

8 N142938 1 BAFFLE   No  

9 654925-00 1 WASHER   No  

10 000000-00 1 NOLONGERAVAILABLE   No  

11 N016366 1 SLIDERSA   No  

15 330021-11 2 LOCKNUT M3x0.5  No  

20 000000-00 1 NOLONGERAVAILABLE   No  

21 N016367 1 GEAR 2nd  Yes  

22 N038862 1 SPRING   No  

23 N016361 1 GEARSA 3rd  Yes  

24 N016370 1 LOCKINGRING   No  

25 654110-00 5 ROLLER   No  

26 N016365 1 ANVIL   No  

27 652378-00 1 PLATE   No  

28 650474-00 1 SPRINGCLIP   No  

29 000000-00 1 NOLONGERAVAILABLE   No  

30 650475-00 1 CIRCLIP   No  

40 N016368 1 CAM   Yes  

41 N016369 1 RATCHETFIXED   Yes  

42 N080691 1 LOCKINGDEVICE   No  

43 650455-00 1 SPRING   No  

44 650448-00 1 SPRING   No  

45 N107986 1 GEARCASE   Yes  

46 N111054 1 PINION   No  

47 629085-00 1 PIN   No  

48 650471-00 6 PIN   No  

49 326467-00 5 DETENT   No  

Page1 
 



  PartsList DCD936 CORDLESSDRILL 10    

Item PartNumber Qty PartDescription GeneralDescription OtherInfo RepairInst Markets 

50 N107985 1 SPINDLESA HD  No  

60 650460-00 1 SELECTOR   No  

61 655532-00 1 SPRING   No  

62 652380-00 1 NUT   No  

63 650459-00SV 1 COLLARSA   No  

64 N015955 1 WASHERNYLON   No  

65 650491-00 1 ENDCAP   No  

66 650418-00 3 SCREW   No  

67 N242399 1 CHUCKKEYLESS 1/2-20UNF  No  

68 682211-00 4 SCREW   No  

69 000000-00 1 NOLONGERAVAILABLE   No GB 

69 N384406 1 SWITCHKIT  >182012 No GB 

70 N091392 1 ACTUATORFWD/REV   No  

75 605256-02 1 SCREW 1/4-28UNF(LH)T20  No  

80 N433408 1 SIDEHANDLE   No  

81 682211-00 13 SCREW   No  

82 N475326 1 HOLDERBIT   No  

85 N086039 1 HOOK   No  

86 N042665 1 SCREW M3X10  No  

800 N017298 1 GREASE150GMS G-2008Molykote  No  

801 429698-00 1 GREASE 1.81kg(4lb)  No  

817 N096997 1 BRANDLABEL   No  

821 000000-00 1 NOLONGERAVAILABLE   No GB 

836 559661-99 1 S.T.CHUCKREMOVALJIG   No  

836 596004-99 1 S.T.INSERT   No  

861 000000-00 1 NOLONGERAVAILABLE   No  

866 N394622 2 BATTERY14.4V-5.0AH-72WH Li-Ion-DCB144-XJ DCD936M2No GB 

866 N394622 2 BATTERY14.4V-5.0AH-72WH Li-Ion-DCB144-XJ DCD936L2 No GB 



871 N450537 1 CHARGER10.8V-18V DCB115-GB-4.0A 

Page2 

 No GB 

 


